8. Estimation
We need to be able to know when two answers are roughly the same.

For example 7.014 is roughly the same as 7. 

Some times the answers are not roughly the same, they are completely wrong. For example: 7.014 is not roughly the same as 59.
Copy the following numbers and join up ones that are roughly the same. Cross out the ones which are definitely not roughly the same. Some have been done for you.
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9. Estimation II
Barry used his calculator to find the answers to some sums. Is he right? Copy what he wrote, estimate the answer and say if he was right. A few have been done for you.
	1.) 4.2 ( 6.1 = 25.62 Estimate: 4 ( 6 =24.  Correct!
2.) 97 ( 5 = 485 Estimate: 100 ( 5 = 500. Correct!
3.) 7.9 ( 2 = 43.1 Estimate: 8 ( 2 = 16. Wrong!
4.) 3.1 ( 4.2  = 13.02 Estimate: 3 ( 4 =     . Correct/Wrong
5.) 9.8 ( 3 = 29.4

	6.) 6.9 ( 4 = 5.81
7.) 3.9 ( 8 = 86
8.) 7.3 ( 2.1 = 15.33
9.) 4.66 ( 5 = 23.3
10.) 7.349 ( 8.265 = 234.1



10. Estimation III
Copy this example:

6.79 + 5.1 ( 7 + 5 = 12

Estimate the answers to the following. Careful: the sums are all different!
Copy the questions and write down the answers:

	1.) 5.1 × 2.9 =

2.) 91.23 + 3.99 =

3.) 6.7 + 3.212 =

4.) 9.1 × 6.9 =

5.) 69.6 – 2.78 = 

6.) 0.023 + 71.23 =

7.) 0.9 × 23.12 =

8.) 29.9 ( 2.1 =

9.) 42.3 + 8.12 =

10.) 5.123 × 7.89 =
	11.) 80.1 ( 8 =

12.) 3.01 × 2.9712 =

13.) 10.3 + 3.81 =

14.) 71.21 – 2.12 =

15.) 9.9 × 5 =

16.) 7.8 × 2.3 =

17.) 40.12 ( 2 =

18.) 5.111 + 4.12 + 3.041 =

19.) 6.1 + 3.9 – 8.01 =

20.) 5.56 + 6.49 =  (think about this one!)


11. Estimation IV
Round each of the numbers to 1 significant figure and find approximate answers:

(a) 48.3  x 26.5

9.7

(b) 56.9 x 21.8

61.3

(c) 48.6 x 51.9

4.92
(d) 78.2 x 31.3

14. 3

(e) 53.2 x 41.3

19.3
